
Transformations of Functions 

Are You Getting It? 

The following graphs are of )(xf .  

Describe the transformation to be applied to  )(xf   to arrive at  𝑔(𝑥)   . 

Then draw the graph of 𝑔(𝑥)  as defined in each question.  

 

1. )(2)( xfxg =  Transformation = ______________________________________________ 

 

2. )2()( xfxg =   Transformation = ______________________________________________ 

 

3. 







= xfxg

2

1
)(   Transformation = _____________________________________________ 
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